SEHE ME(ER) 35

BEIMOEMIER
1 SREIE. BEORLWVPEEIZEBZZHEICRLTVETH,
2 SEIE. COBETCRAZNBOREEERATIRSESZATULETH,
3 COBREFEBELTC. ZAHOBREORLEEZERLTLETH,
4 COREICENHYDOBEEZOCEMNERZE - TIHATHET A,
B4 HTIEFES B4 BTIEFE+HIEELTIEFES
27 . 59
—5;— 3293 % —g— 7195 %
BiE1 B2 |ER3 BiE1 B2 |ER3
LTIEED 21 21 22 LTIEED 23 29 26
HHEELTITED 3 5 2 HHEELTITES 27 26 21
HEYLBTIEEL AL 2 1 3 HEYLBTIEEL AL 7 4 10
LTREELHN 1 0 0 LTREELHN 2 0 2
20% I SR I EEatary 30% -
60% |— - 60% -
40% — a0% | L —
20% — — 20% +— —
0% 0% . )
B B2 B3 B B2 =4 K]
B4 HHEEETIIFES B4 9T
32 82 \
— 39.02 % — 100 %
Bl |El2 |E/3 Bl |82 |&E/s3
LTIEFES 2 8 4 LTIEFED 26 36 27
HAHEELTITED 24 21 19 HAHEELTITED 31 31 23
HEYLTIEESHL 5 3 7 HEYLTIFESHL | 15 12 22
LTIEELHEN 1 0 2 LTIEELHEN 10 3 10
100% - - 100% -
80% :. 80% -
60% — 60% -
a0 {5 aon [ -
20% -— - 20% +—I -
0% ; ) 0% . .
B &2 BE3 &R B2 B3

— A1EImEKITDONT (B4 %)

1. AL CORET, EM DBEL®
FREQERGET- N BIHKREER

LTWET D,
11
A 1

2. HEEF. CO/RET-ATBIHR
ZERALTOET D

»

3o HET=E, SO T, BEE
PIE.EEREHGET-AT
REFRALTOLET D,

2

B

HTIEES

.%%Efﬁéﬁ’(éii%

HEVETTESHL

.é’l’Ctii DL



SEMET LZ(ER) 35

BETHmOEMER
1 SEIE. BEORLWNCETEFEBZEHBEISRLTLET D,
2 SEIE. COBETEARMBOREEFERT AEEE5ATVETH,
3 COEBEEFEBELT. ZHOBBEDORLEZERLTLET D,
4 COREICEREYDHELEMEHEZL > THATHNETH,
B4 HBTIEES B4 BTIEIFELH+HLIBEELTIEFED
49 , 79
—o3— 5269 % —o3— 8495 %
BiE1 B2 |ER3 BiE1 B2 |ER3
LTIFED 41 42 40 LTIFED 44 47 43
HHEELTITED 7 7 9 HHEELTITES 31 31 36
HEYHTIEESLL 1 0 0 HEYLTIEESLHL 4 1 0
LTIEFELHL 0 0 0 LTIEFELLHL 0 0 0
100% | pmm— 100% T g
80% — — 80%
60% — — 60% ||l
40% — — 40% +— —
20% — — 20% -+— —
0% 0% . . .
=5k BR2 B3 =il B2 ={5E
B4 HERELTIEED BR4 T
30 , 93 .
—o3— 3226 % —o3— 100 %
BRIL |E/M2 |ERI3 BRL |E/M2 |ER3
LTIEES 3 5 3 LTIkE S 45 51 44
HHEEELTIEES 24 24 27 HAHAEELTIEES 35 37 40
HEYLTIEESHL 3 1 0 HEYLBTIEEL AL 9 5 4
LTIEFELHN 0 0 0 ERdEEEYAN 4 0 5
100% '—- T 100% -
80% . - 80% -
60% — - 60% -
a0 {5 - 40% — -
20% -— - 20% +—I -
0% . . . 0% . .
B &2 BE3 &R B2 B3
—ANTBHERIZDNT  (BA1:%)

1. AL CORET, EM DBEL®
FREQERGET- N BIHKREER

LTWET .
2 ’ 0

2. HEEF. CO/RET-ATBIHR
ZERALTOET D

>

3, HIET=IE. CORELS T, BED)
PITE.ZERBEHGET-AT1E
REFRALTOLET D,

)1

HTIEES

.%%Efﬁéﬁ’(tii%

HEVETTESHL

.é’lftii DL




